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Graphing Lines in the formy=mx+b_

Graph and label (3, b, c, ...) each line on the grid provided.
Each line must include its y-intercept and at least 3 other points on the graph.

Use a ruler!
a)y=_?4x—-2 b)y=4x-6 C)y=§x d)y=-2x+10
- ’7’(5-
Slope: _'L%_ Slope: Lf Slope: <~ | Slope: MZ
Rise: ’/’/ Rise: Lf Rise: -5 Rise: ”Z-
Run: _‘3_ Run: ( Run: i_ Run: i
y-Intercept: :Z_’ y-Intercept: v ‘-é y-Intercept: Q y-Intercept: ; O
e)y=—-x—9 fHly=x+9 g)y=2}1-x—9 / hyy=7
Slope: — ‘ Slope: } Slope: __/ff_ Slope: O
Rise: — ‘ Rise: [ Rise: __/__ Rise: O
Run: ‘ Run: l Run: ﬂ_ Run: o2
y-intercept: ’ﬁ y-Intercept: CI y-Intercept: :ﬂ y-Intercept: E
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